ICE AGE JUNCTION PATH - 2012 ACCOUNT NO. CS53 58240 810375 00 53W1266 BIKE PATH ACCOUNT NO. CS53 58270 810375 00 53W1266 STORM SEWER

CONTRACT NO. 6786

BID OPENING: MARCH 30, 2012

				HAMMERSI CO.,		SPEEDWAY SAND & GRAVEL, INC.	MADISON CRUSHING & EXCAV. CO., INC.	BADGERLAND EXCAVATING, LLC	R.G. HUSTON CO., INC.	CAPITOL UNDERGROUND, INC.	HOMBURG CONTRACTORS, INC.	RAYMOND P CATTELL, INC.	S & L UNDERGROUND & TRUCKING, INC.
ITEM		ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID
	NT NO. CS53 58240 810375 00 53W1266 BIKE												
10701	TRAFFIC CONTROL	1.00	LUMP SUM	\$600.00	\$600.00	\$2,000.00	\$500.00	\$250.00	\$1,931.00	\$1,875.00	\$2,500.00	\$3,500.00	\$1,500.00
10911	MOBILIZATION	1.00	LUMP SUM	\$11,141.00	\$11,141.00	\$3,500.00	\$4,500.00	\$7,500.00	\$2,671.00	\$15,000.00	\$6,500.00	\$6,500.00	\$25,000.00
20101	EXCAVATION CUT	2,675.00	C.Y.	\$8.56	\$22,898.00	\$11.20	\$7.00	\$9.00	\$9.00	\$11.78	\$12.00	\$18.00	\$15.00
20140	GEOTEXTILE FABRIC TYPE SAS NON-WOVEN	500.00	S.Y.	\$1.70	\$850.00	\$1.60	\$2.50	\$1.00	\$2.00	\$1.62	\$2.50	\$2.00	\$3.00
20217	CLEAR STONE	105.00	TON	\$15.80	\$1,659.00	\$9.50	\$11.00	\$12.00	\$11.00	\$14.11	\$15.00	\$12.00	\$20.00
20219	BREAKER RUN	960.00	TON	\$13.00	\$12,480.00	\$9.50	\$10.25	\$12.00	\$13.00	\$9.80	\$15.00	\$10.00	\$15.00
20221	TOPSOIL	6,450.00	S.Y.	\$1.05	\$6,772.50	\$1.45	\$2.00	\$2.00	\$1.90	\$3.21	\$2.50	\$3.00	\$3.00
20303	SAWCUT ASPHALT PAVEMENT	855.00	L.F.	\$1.10	\$940.50	\$1.25	\$2.00	\$1.00	\$1.00	\$0.95	\$3.50	\$1.75	\$2.00
20322	REMOVE CONCRETE CURB & GUTTER	25.00	L.F.	\$5.00	\$125.00	\$10.00	\$8.00	\$3.00	\$5.00	\$4.20	\$8.00	\$5.00	\$5.00
20323	DRIVE	773.00	S.F.	\$1.20	\$927.60	\$1.00	\$1.00	\$2.00	\$2.00	\$1.09	\$1.50	\$1.50	\$2.00
20401	CLEARING	4,350.00	S.Y.	\$1.00	\$4,350.00	\$1.25	\$1.70	\$2.00	\$1.55	\$1.50	\$1.60	\$2.25	\$1.75
20403	GRUBBING	4,350.00	S.Y.	\$1.00	\$4,350.00	\$1.25	\$1.70	\$2.00	\$1.55	\$1.50	\$1.60	\$2.00	\$1.75
20701	TERRACE SEEDING	6,450.00	S.Y.	\$1.10	\$7,095.00	\$0.88	\$1.20	\$0.50	\$0.91	\$1.10	\$1.25	\$1.25	\$1.00
20711	TRENCH RESTORATION 4 INCH TOPSOIL, SEED, FERTILIZE AND MULCH	970.00	T.F.	\$4.50	\$4,365.00	\$3.50	\$10.00	\$1.00	\$7.49	\$13.00	\$2.00	\$9.00	\$5.00
30201	TYPE "A" CONCRETE CURB AND GUTTER	241.00	L.F.	\$15.00	\$3,615.00	\$16.00	\$20.00	\$20.00	\$18.31	\$19.50	\$15.00	\$19.00	\$20.00
30302	7 INCH CONCRETE SIDEWALK & DRIVE	430.00	S.F.	\$6.00	\$2,580.00	\$4.10	\$5.00	\$5.00	\$4.63	\$4.75	\$5.00	\$4.50	\$5.00
30340	CURB RAMP DETECTABLE WARNING FIELD	48.00	S.F.	\$29.00	\$1,392.00	\$30.00	\$26.00	\$25.00	\$26.01	\$25.00	\$30.00	\$25.00	\$30.00
30451	BOULDER RETAINING WALL	1,090.00	S.F.	\$15.00	\$16,350.00	\$18.80	\$15.50	\$20.00	\$19.36	\$17.96	\$20.00	\$18.00	\$35.00

ICE AGE JUNCTION PATH - 2012 ACCOUNT NO. CS53 58240 810375 00 53W1266 BIKE PATH ACCOUNT NO. CS53 58270 810375 00 53W1266 STORM SEWER

CONTRACT NO. 6786 BID OPENING: MARCH 30, 2012

							MADISON						S & L
				HAMMERSL	EV STONE	SPEEDWAY SAND &	CRUSHING & EXCAV. CO.,	BADGERLAND EXCAVATING,	R.G. HUSTON	CAPITOL UNDERGROUND,	HOMBURG	RAYMOND P	UNDERGROUND & TRUCKING,
				CO.,		GRAVEL, INC.	INC.	LLC	CO., INC.	INC.	INC.	CATTELL, INC.	INC.
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID	UNIT PRICE BID
40102	CRUSHED AGGREGATE BASE COURSE, GRADATION NO 2 OR NO 3	1,825.00	TON	\$13.42	\$24,491.50	\$14.00	\$10.80	\$15.00	\$13.00	\$9.99	\$16.00	\$18.00	\$20.00
40201	HMA PAVEMENT TYPE E-0.3	695.00	TON	\$60.00	\$41,700.00	\$59.85	\$62.00	\$65.00	\$61.65	\$59.85	\$63.00	\$59.85	\$60.00
90001	CONCRETE MEDIAN SPECIAL	815.00	L.F.	\$15.60	\$12,714.00	\$39.00	\$43.00	\$42.00	\$41.62	\$42.00	\$38.00	\$41.50	\$45.00
90002	CONCRETE GUTTER SPECIAL	165.00	L.F.	\$13.00	\$2,145.00	\$16.50	\$20.00	\$20.00	\$18.31	\$20.50	\$18.00	\$19.00	\$20.00
90003	ASPHALT FLUME	50.00	S.F.	\$8.00	\$400.00	\$10.00	\$8.00	\$10.00	\$7.21	\$9.00	\$12.00	\$10.00	\$10.00
90004	TREE PRESERVATION WALLS	350.00	S.F.	\$17.00	\$5,950.00	\$15.20	\$20.00	\$15.00	\$15.66	•	\$20.00	\$18.00	•
	SUBTOTALS			-	\$189,891.10	\$212,792.00	\$217,441.00	\$227,876.00	\$222,821.99	\$248,308.77	\$246,254.50	\$272,958.00	\$311,366.00
	NT NO. CS53 58270 810375 00 53W1266 STC												
21001	EROSION CONTROL PLAN & IMPLEMENTATION	1.00	LUMP SUM	\$200.00	\$200.00	\$500.00	\$200.00	\$100.00	\$652.00	\$672.00	\$850.00	\$3,000.00	\$1,500.00
21002	EROSION CONTROL INSPECTION	5.00	EACH	\$300.00	\$1,500.00	\$350.00	\$100.00	\$50.00	\$360.50	\$342.00	\$300.00	\$350.00	\$250.00
21011	CONSTRUCTION ENTRANCE	2.00	EACH	\$1,000.00	\$2,000.00	\$125.00	\$1,000.00	\$750.00	\$470.00	\$252.00	\$500.00	\$350.00	\$500.00
21013	STREET SWEEPING	10.00	EACH	\$50.00	\$500.00	\$150.00	\$100.00	\$10.00	\$135.00	\$460.07	\$150.00	\$100.00	\$250.00
21021	SILT FENCE COMPLETE (UNDISTRIBUTED)	100.00	L.F.	\$2.00	\$200.00	\$2.00	\$3.00	\$1.50	\$6.80	\$3.00	\$3.00	\$3.00	\$3.00
21024	SILT SOCK (12 INCH) - COMPLETE	300.00	L.F.	\$4.00	\$1,200.00	\$5.00	\$5.00	\$2.00	\$7.11	\$5.50	\$4.00	\$4.85	\$7.50
21042	INLET PROTECTION, TYPE D - PROVIDE & INSTALL	3.00	EACH	\$130.00	\$390.00	\$70.00	\$100.00	\$75.00	\$72.10	\$141.60	\$80.00	\$120.00	\$125.00
21043	INLET PROTECTION, TYPE D - MAINTAIN	12.00	EACH	\$5.00	\$60.00	\$12.00	\$50.00	\$10.00	\$12.36	\$42.00	\$20.00	\$65.00	\$25.00
21044	INLET PROTECTION, TYPE D - REMOVE	3.00	EACH	\$30.00	\$90.00	\$15.00	\$50.00	\$10.00	\$15.45	\$36.00	\$20.00	\$25.00	\$60.00

ICE AGE JUNCTION PATH - 2012 ACCOUNT NO. CS53 58240 810375 00 53W1266 BIKE PATH ACCOUNT NO. CS53 58270 810375 00 53W1266 STORM SEWER CONTRACT NO. 6786

BID OPENING: MARCH 30, 2012

							MADISON						S & L
						SPEEDWAY	CRUSHING &	BADGERLAND		CAPITOL	HOMBURG		UNDERGROUND
				HAMMERSLEY STONE		SAND &	EXCAV. CO.,	EXCAVATING,	R.G. HUSTON	UNDERGROUND,	CONTRACTORS,	RAYMOND P	& TRUCKING,
				CO.,	INC.	GRAVEL, INC.	INC.	LLC	CO., INC.	INC.	INC.	CATTELL, INC.	INC.
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	UNIT PRICE BID							
21052	POLYMER STABILIZATION (UNDISTRIBUTED)	4,000.00	S.Y.	\$0.30	\$1,200.00	\$0.14	\$0.50	\$0.10	\$ 0 .14	\$0.35	\$0.20	\$0.50	\$1.00

ICE AGE JUNCTION PATH - 2012
ACCOUNT NO. CS53 58240 810375 00 53W1266 BIKE PATH
ACCOUNT NO. CS53 58270 810375 00 53W1266 STORM SEWER
CONTRACT NO. 6786

BID OPENING: MARCH 30, 2012

MADISON S&L **SPEEDWAY CRUSHING &** BADGERLAND CAPITOL HOMBURG UNDERGROUND R.G. HUSTON UNDERGROUND, CONTRACTORS, HAMMERSLEY STONE SAND & EXCAV. CO., EXCAVATING, RAYMOND P & TRUCKING, CO., INC. GRAVEL, INC. INC. LLC INC. INC. CATTELL, INC. INC. CO., INC. **ESTIMATED** UNIT PRICE CONTRACT **UNIT PRICE UNIT PRICE** UNIT PRICE **UNIT PRICE** UNIT PRICE **UNIT PRICE** UNIT PRICE UNIT PRICE UNITS ITEM TYPE OF WORK QUANTITIES BID **DOLLARS** BID BID BID BID BID BID BID BID **EROSION MATTING, CLASS I, URBAN** 21061 6,150.00 S.Y. \$1.40 \$8,610.00 \$1.28 \$1.50 \$1.00 \$1.32 \$1.40 \$1.50 \$1.40 \$2.00 TYPE A 21072 **EROSION MATTING, CLASS II, TYPE B** 300.00 S.Y. \$2.60 \$780.00 \$1.48 \$2.50 \$2.00 \$1.52 \$2.10 \$2.00 \$2.40 \$5.00 50211 SELECT BACKFILL FOR STORM SEWER 422.00 T.F. \$422.00 \$2.00 \$1.00 \$1.00 \$0.10 \$0.10 \$0.10 \$0.10 \$1.00 \$1.00 50411 12 INCH RCP STORM SEWER PIPE L.F. \$49.00 \$2,548.00 \$44.00 \$30.00 \$35.00 \$47.50 \$41.00 \$55.00 \$55.00 \$65.00 52.00 18 INCH RCP STORM SEWER PIPE 370.00 L.F. \$42.00 \$15,540.00 \$40.50 \$35.00 \$44.00 \$53.00 \$40.50 \$52.00 \$60.00 \$70.00 50413 50461 12 INCH RCP AE 2.00 EACH \$583.00 \$1,166.00 \$660.00 \$500.00 \$250.00 \$707.00 \$630.00 \$725.00 \$450.00 \$1,000.00 50463 18 INCH RCP AE 3.00 EACH \$632.00 \$1,896.00 \$775.00 \$600.00 \$300.00 \$760.00 \$749.00 \$800.00 \$500.00 \$1,500.00 50601 12 INCH RCP AE GATE 2.00 EACH \$539.00 \$1,078.00 \$425.00 \$400.00 \$750.00 \$332.00 \$375.05 \$475.00 \$350.00 \$750.00 50741 TYPE "H" INLET 3.00 EACH \$1,250.00 \$3,750.00 \$1,650.00 \$1,500.00 \$1,600.00 \$1,680.00 \$1,384.56 \$1,900.00 \$1,500.00 \$2,000.00 SUBTOTALS \$43,130.00 \$41,735.20 41,979.00 \$36,067.20 \$48,622.67 \$46,683.48 \$50,537.00 \$53,832.00 \$71,157.00 **CONTRACT TOTALS** \$233,021.10 \$254,527.20 \$259,420.00 \$263,943.20 \$271,444.66 \$294,992.25 \$296,791.50 \$326,790.00 \$382,523.00